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b2 T AR | TN - 0Old Syllabus
First Year Higher Secondary Improvement Examination

Part-I11
COMMUNICATIVE ENGLISH
Maximum ; 60 Scores
Time : 2 Hours
- Cool off ttme : 15 Minutes
/ General Instructions to Candidates : \

® There is a 'Cool off time' of 15 minutes in addition to the writing time of
2 hirs.

® You are peither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.

® Use the 'cool off time’ to get familiar with questions and to plan vour
answers.

Read the gquestions carefully hefore ANSWETING.
All questions are compulsory and only internal choice 13 allowed.

When you select a gquestion, -all the sub-questions must be answered from

e

Their conversation 1s given below. Some parts of 1t are missing. Complete
the missing conversation.
We saw during the last film festival, .......(8)........ ?

Yes. It wasat Goalast year. .......(b).......°7

T was in Dubai after those days.

I prefer the Canadian film, 'One way'.
Youd better .......(d)........

Wounld yonmind ........(e)........

No. Today | intend to see the German film.

Ok, then. See you.

See you.

i
: the same question 1tself.
' \ ® Elecrronic devices are not allowed in the Kxamination Hall, /
. Mangj and Vipin are good friends. They happened to see at the film festival.

Manﬂ:i
Vipin
Manog
Vipin
Manag
Vipin
Manaj
Vipin
Manog
Vipin
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You have visited Ooty recently. Imagine vou gave a deseription of Ooty to
one of yvour frends. How will you describe? You can make use of the hints
given below.

(Hints : 600 kilometers from home — botanical garden — amazing range of
flora and fauna — singing of birds —a huge waterfall from a hill - many big
and amall fountains — some bathing under the fountain — lovely sight)

OR

You know how to make chutney. You deseribed the process of making
chutney to one of vour friends. How will vou deseribe the process?

Your school plans to conduet a tour programme to Bona waterfalls. Being
the secretary of the tour club, prepare a notice to be circulated in-all the
classes. You may ask to register the names of students, pay advance
amount and collect details to those who are willing to participate in it.
Prepare the notice. '

OR

You want to sell your car. Draft an advertisement to be published in a
newspaper. Details hike : Model : 2006, expected amount. condition and
other details can be included.

Imagine you want to inform vour hrother whe is abroad, the details of
yvour resull in the examination. You decided to send a message over phone,
How will the message be” Prepare the message.

OR

A play, '"The Price of Flowers' 1= te be performed in vour scheol. You are
asked to present an announcement before the commencement of the play.

The roads in the city are filled with gutters. Many riders cause accidents
and get admitted to hospitals. Write a letter to the editor to publish details
of aceidents and inconveniences of vehicle drivers and alert the
government officials to take necessary action at the earliest.

Write the phonemie transeription af the following words.

lnok make table wise

(lopal passed the Civil Service Examination in third rank. Imagine Gopal
was a former student of your school. The school authorities decide to
congratulate Gopalfor the achievement. Prepare a speech to be presented
on the pecasion.
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Edit the following passage.

Children was playing football on the ground. They were wear black jersey
and blue shorts. They were practicing football for participate in the college
meet.

Tmagine you happened to meet an accident on road on your way back home.
A bus collided with a car and two persons were seriously injured. Back
home, you narrated the details of visit to your family members. When.
where and how the accident happened can be narrated. Narrate the events.

Given below are the details of motorbikes sold from the hranches
(B1 to 36) of a showroom. Examine the diagram carefully and prepare a
paragraph of 75 words.
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You want to go to a place to attend a party. You don't know the way. You
asked one of your friends to explain the way to reach the place. Write the
deseription he gave you,

(You may imagine a place you know and the way to reach the place.)

Read the passage given below and make notes related to 1t.

Nicotine is the addictive drug in tobacco smoke that causes smokers
to eontinue to smoke. How much nicotine a smoker needs determines how
much smoke they are likely to inhale, no matter what type of cigaretie
they smoke. Along with nicotine, smokers inhale about 7,000 other
chemicals in cigarette smoke, Many of these chemicals come from burning
tobaceo leaf. Tobacco smoke contains aver 60 known cancer-cansing
chemicals. The most damaging components of tobacco smoke are

Tar is the collective term for the various particles which contain chemicals,
including several eancer-causing substances. Tar 18 sticky and brown, and

3)

(5)

(1)

(3)
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stains teeth. fingernails and lung tigsue. Tar contains the carcinogen
benzo(a)pyrene. Carbon monoxide is an odourless gas is fatal in large doses
because it takes the place of oxygen in the blood. It binds to haemoglobin
better than oxygen. In response, the body makes more red blood cells 1o
carry the oxygen it needs, hut it makes the blood thicker. Lungs contain
tiny hairs that help to clean the lungs by moving foreign substances out.
Hydrogen eyanide stops this Tung clearance system from working properly,
which means the poisonous chemieals in tobaceo smoke can build up inside
the lungs. Oxidizing chemicals damage the heart muscles and blood
vessels, They react with cholesterol, leading to the build-up of fatty material
on artery walls. Their actions lead to heart discase, stroke and blood vessel
disease.

Read the following poem and answer the questions in oné or two sentences
each.

I saw the fog grow thick,
Which soon made blind my ken:
It made tall men of boys,
And giants of tall men,

It clutched my throat, 1 coughed;
Nothing was in my head
Except two heavy eyves
Like balls of burning lead.

And when it grew so black
That I could know no place,
I lost all judgment then,
Of distance or of space.
The street lamps. and the lights
Upon the halted cars,
Could either be vn varlh
Or be the heavenly stars.

#)  Whalt s the poem about?
b)  What does the line 'It clutched my throat, I coughed' mean?
¢)  Why did the poet lose all judgment?

d)  Pick out a word that means 'stationary’.
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September 2016 ;
DEATOME o iiliiasiyinsssnns s sty 0Ol1d Syllabus

First Year Higher Secondary Improvement Examination

Part - 111
MUSIC
Maximum ; 40 Scores
Time : 1%2 Hours
Cool off time : 15 Minutes
/ General Instructions to Candidates : \

® There is a 'Cool off time' of 15 minutes in addition to the writing time of
1% hrs.

®. You are neither allowed to write your answers nor to discuss anyvthing
with others during the ‘eool off time's

® [Jse the 'cool off time' to get familiar with questions and to plan vour
ANSWETS.

® Read the questions carefully before answering.
All guestions are compulsory and only internal choice is allowed.

® When you select a question, all the sub-questions must be answered from
the same question itself.

® Malayalam version of the questions is also provided.
Electronic devices except nonprogrammable calculators are not allowed
n the Examination Hall.

mldsgresck:

® midgleds mawEwlt aloea 15 difly ‘el g0l eese’ amsowldles;oe.
0% MDQEN GaIOGIEIRES SMMbe ngLIMOEMo. Grieacimmow] eoew
hﬂﬂﬂmmm (MSEWITND atdslgl.

® SEBmEABM agPimIMmDIT oyml ecloaEmsd® waeLoaybile mmﬂéﬁaﬂo.

® ofpl0 CoIOBIEBITAD HEMBNe ag)PInEemo.

® &0} Ga0E)MMLD 9ameaaYIMmIt SmESMHSIMN) HYleTmom Sal
BoI0BIETESI0 @M Eolla) MmrUdlad ol @eT HEREETmSISHaENEmOsT.

®  E6mast SISEIHR, 2 M, ((N0a0EM, ag)Tilil SEMREIaCIREmaT
semsowdlanemo.

® copeEmod orwoaGEHele Malalnigens.

® AIDUIOAEUD HAIGIMISIEN LHIMLEAN0IHE aYlaswas an)

EDRIDSESIENTLOS DalEMQjo alble0an0eld Daltwouilaniuom niodle).
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1. The numbers of Janaka ragas

4. Two dots placed below the swara

demotes ............. sthayi.

b. Shruthizare............. 1 number.

6. The system of notation used in

Indian music,

7. The raga Hamsadhwani was

popularized by ...

8,  Select the musical form which do
not have sahitya.

(Geetham, Jathiswaram,

Swarajathi, Varnam)

9. What iz Nada? Write the two
divisions of Nada.
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10.

11.

12,

13.

14.

15.

Explain shadangas with signs,
angas and aksharakalas.

Explain Varja ragas with

exumples,

Explain the musical form,

‘gitam'.

Notate a gitam, vou have learnt
with signs and symbols.

‘rite the lakshanas of the raga,
‘Mayamalavagowla'.

Write an essay on the life and
contribution of Jayadeva to

Carnatic music.
OR

Write an essay on the life and
contribution of Purandaradasa

to Carnatic music.
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a) The halder of this card can
buy goods from different
approved outlets.

b) It requires balance in the
bank account.

¢) The card is issued to a bank
aceount holder emly.

Tdentify this card.

Identify the organization which
differ

number of members.

regard to minimum
a) Joint Stock Company

b) Partnerzhip

¢) Couperative society

d) Sole Trading Concern

Find the type of retail trade from

the given information.

e T'hey carry products on

wheeled carts or bicycles.

e They move from door to door

in residential area.
a) Market trader
b) Street trader
¢} Hawker

d) Pedlars

'S.EZ means .......o....

a) Specmal Entity Zone

b) State Export Zone

¢) Special Economic Zone
d) State Economic Zone

KR-47
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On the basisof ............., business
is divided into industry and
commerce,

a) ownership

b) size

¢) function

State which of the following pair

is INCORRECT one and state
its reason.

a) Employment - salary

b) Business -
¢) Profession -
d) Business risk —

profit
fees
goadwill

Classify the following under air,

water, land and sound pollution.

a) Solid waste that get
accumulated from industries,
hospital, hotels ctec.

b) Emission of toxic gases from
factory vehicles ete.

c) Dumping of waste into river,
streams and lakes,

d) Excessive noise from a
factory.

While searching internet,
Mr. Tom got information about
a Managemenl Book published
in England. He wishes to
purchase it without visiting a

hi‘.nikﬂtaﬂ. Suggest other way to

purchase the book.

KR-47
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17.

18.

19.

20.

Ramesh has a balance of
Rs. 1.00.000 with SBI. He
deeided to invest ii in securities,
which ensures a fixed return on
it. Which types of securities do
you advice him to purchase?

Muhammed Faiz got an
appointment order from KSRTC
ag a driver, He decided to join
the job believing that it is a
Government Company. One of
his friends said that it is not a
Government Company but 3
Public Corporation. Clear his
doubts by distinguishing the
difference between Government
Publie

Company and &

Corporation.

‘A buziness is a social institution.
Various segments in the society
are interested in it'.

Briefly explain the statement by
indicating the social
responsibility of business to any
four stakeholders.

Iln a classroom debate, John
argued that profit making is the
sole aim of business. But Ajay
that
making is not the sole objective

opposed mege profit
of any business.
Comment on the above

arguments.

KR-47
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3.

Closing stock is valued at ...

a) cost price

H) market price

£) ecost price or market price
whichever is lower

d) cost price or market price
whichever is higher

Which ameng the following
comes under personal account?
a) Drawings account

h) Discount received account
¢) Goodwill aceount

d) Postage accourt

The general rules which govern
the accounting process are
called ...

a) accounting methods

b) accounting principles

¢) accounting objectives

d) accounting information

Accounting standard 6 (AS 6)
deals with e

a) depreciation accounting

h) revenue recognition

¢) valupation of inventories

d) meceounting for amalgamation

Prepaid expenses shown in the

Trial Balance is .........

a) debited to the Profit and
Loss acecount

b) erediled (o Profit and Loss
account

¢) shown as an asset in the
Balance Sheet

d) Shown in bath Profit and Loss
account and Balance Bheet

Find the odd one vul and state
the reason.

a) Mouse

b) Printer

¢) Key Board

KR-25
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a) enst price

b} market price

¢) ecost price or market price
whichever 18 lower

d) cost price or market price
whichever is hipher

moay acammomict cafoosmad
mneaDaEh almjrmemal?

a) Drawings account

b) Diseount received account
¢) Goodwill account

d) Postage account

MR mens ndd [l (e B )
ml@rignm  eaammiwasoel
) gecounting methods

b) accounting principles

¢) accounting objectives

d) accounting information

aresvidloul muomtenstiod 6 (AS 6)
a) depreciation aceounting

b) revenue recognition

¢) valuation of inventories

d) accounting for amalgamation

infleunioy agamnandon s

erusainhafiad momilmgrmon .. e

a) debited to the Pruflt und_
Loss account

b) credited to Profit and Loss
account

¢) shown as an asset in the
Balance Sheet

d) Shown in both Profit and Loss
account and Balanece Sheet

anualyg midsaymalan &.eeeom
SOMETITE M .
a} Mouse

“b) Printer

c) Kev Board
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7. Proprietor took goods {rom 7. ‘sstmund enflodlmpied  miem)e
business for household purpose. moowmsmdt allsoimyemamsmnod
Which aceount is to be evediled? AT SN ool saigye?

4) Drawings account a) Drawings account

b) Stock account b) Btock account

¢} Purchase account (2) e} Purchase aceount (2)
18 prepared to ascertain 8. emom’y o @moed  eaowesd

cost of production. SOETInUIMNoe . DRIOCIBETT.

2) Trading account a) Trading account

b) Manufacturing account b) Manufacturing aceount

e) Profit and Loss account (2) ¢) Profit and Loss account (2)

9. Opening capital RE 1,00,000; 9. eonardocd @oeigat- 1,00,000 ap,
elosing capital Rs. 1,32,000; @nomilacy &oallge 1.32,000 m;ai,
Drawings Rs. §,000. Profit will aewoelociny 8,000 pyl g pioss
B, S e M apoldep.

a) Rs. 40,000 a) Rs. 40,000
b) Rs. 24,000 b) Rs. 24,000
c) Rs. 32,000 (2) c) Rs. 32,000 (2)
10. Which one of the fﬁllnw-ing 10, moer alomym. s:mg;‘eu@mi s
errors will affect the Trial snugesdadlen enoulesrmemnal?
Balance? a) Erection charge of plant
a) Erection charge of plant debited to wages account
debited to wages account b) Compensating errors

b) Compensating errors ¢) Undercasting of purchase

¢) Undercasting of purchase day hook (2)
day book (2)

11. Journalize the following 11. moms e@osjom  @saosed
transactions, (3 ambmeinind paigye (3)
a) On 15% October, 2010 sold goods to Manu for Rs. 40,000 on credit. '

b) On 5 Decembar received Rs. 39,860 from Manu in full settlement of his
acgount,

12. Ameera sold to Priney the 12. endlo (wded el mlomie moee
following. adomymal oioerdl. :

20 sets of computers with accessories @ Rs. 21,000 each.

6 printers @ Rs. 7.500 each
All sales were made at a trade s@Roe auoadlwe’ 10% ayonion
discount of 10%. @lfiafieosm.  mdowes
Preparc sales day book in the _ MGOeIMEETEIMGID  amedbn
books of Ameera. (3) R s RNy (8)




13.

14.

15.

16.

Mention any three differences

belween manual accounting and.

computerized gecounting.

Moon Ltd., purchased a motor
van on 1% April, 2006 for
Rs. 6,50,000. Prepare motor van

account for two wears by

charging depreciation
@ 10% p.a., under diminighing
balance method. Accounts

clased on 313 March of every

vear.

Mohan Associates wants to
preparc their final accounts on
41/03/2010. On that date they
found the following unadjusted
transactions: Help them to adjust

the .transactions.

(3)

(4)

(4)

13.

14.

15.
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DLETENE EHYOOTBE 85

ganantl mrecuomilawgm’ 31/03/
2010
AT NS T
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m{;g:ma-mgmunﬁ
milaj@omlallelsajemoem. @IEMM
alaioe @eiuans eupsaldl moae
alO@im Sacs et auoimarg
SoIgeuod EROISN TuaOXLlE6E:.

a), Salary expense outstanding Rs. 250/,

b) Goods worth Rs, 1,100 were distributed as samples.

From the following, prepare
Bank Reconeiliation Stalement
of David as on 31* March, 2010
and find the balance of cash book
on that date,

(4)

16.

moe emosem Cfloisemgs alrme
sawnfada 2010 aobal 3l-ee
snuom; Giaserdmilalewandd eguhend
mgooosd] mremm Gloiave GO
sniESIan ENIDRIGHTY EREETEmT .

cash book Rs. 300/-

a) Balance as por passhook on 31/03/2010 Rs. 30,000/-.

b) Chegue of Rs. 5,000/ issued to Raghu, but the cheque is not
presented for payment till 31* Mareh, 2010,

¢) Insuranee premium and eleetricity bill of David paid by the bank
as per the standing instruction Rs. 1,200/~

d) Bank charges debited by the bank in passbook but no entry in the

KR-25
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17. Record the fallowing 17, moae madesio w DL
.p:f_aﬁ_sﬂct.ign?ﬂ of Mr. Madavan in 2010 aanEn] DTS @0
his cash book fur the month of -4 ST GOEISIe ST (£)
February 2010. _ (4)
February 2010 Rs.
1 Started business with cash 800,000
furniture _ : 2,00.000
Purchased goods for cash 1,560,000
Sold goods for cash 2,00,000
12 Bought machinery = 1,80,000
20 Took a loan from Mr. Madavan lor 1,00,000
22 Paid insurance premium 700
26 Received commission 1,800
28 Paid salary ' 3,500
18. On verification of their accounts, 18, meones aldlamouieaym mowio
Ramsons found the following @OBUENEMY MIOP AIOWITN BRI
mistakes. Help them to correct @ee,. @l @loEmod @uew
the errors. 4) 0aOOW . (4)

a) Cash withdrawn from bank Rs. 2,200 for payment of tuition
fees of children debited to business expenses account.

b) Carriage on purchase of machinery debited to carringe

account Rs. 800,

19. From the following information, [ 18, oo Eu0SIE allaunemga n‘i’tn'n,;n
ascertain  the amount of agaioad] eqpdsns’ ganlad 2010
subscription to be credited to cudns e @Em oo mm o’
income and expenditure account ﬂm.ﬁ'“ﬁmﬂ-ﬂi'ﬂm-‘%ﬁ_ s vl
of Everready Sports Club for the Hosgens  men/miidlalnuth  me |
year 2010. (4) 0BT (4)

a) Total subscription received during the year Rs. 54,000
h) Eu_bucriptic_rn arrears for the year 2009 reccived in 2010 Rs. 3,000
¢) Subseription received in advance for the yeur 2011 Rs, 2,500
d) Subseription outstanding for the year 2010 Rs. 3,500
) Subscription received in advance in the yoar 2009

for the year 2010 Bz, 1800

KR-25 _ 5 Turn Over




20.

21.

Kiran sold goods to Hyderali for
Rs. 80,000 on 1* April, 2010. He
draws a bill upon Hyderali for
two months for the amount.
Hyderali accepted the bill and
Kiran
discounted the bill with his
banks @ 3% discount p.a. The bill

was duly met on maturity.

returned to Kiran.

Journalize the transactions in
the books of Kiran. (4)

From the following particulars,

prepare the Income and
Expenditure aceount of A One
Club for the year ended

31/03/2010. (6)

20. 2010 ageded 1-a7 alnet seaoaeoal
whosl 80,000 mpimEs miswmensd
g
monocudfles amy ey aqeymieile

Singn 2 odmann
goanaaoe!  mom  Eocalasalal
ameganEElm alwlal il )ewmio
fa ey Seed enfal merd suomle
andale aeln 3% -oloes]od
aflmieyne aolwing, dosocuflaiess
wiodmae eJElm alfme Ml B
salosiatd slwemiag miseald

BREMESRIM 6.01Qd.

21. mosw aosem aficieemglad ol
a@ cusrt gealladg 2010 asdal 31-07
mrcumanla) ropaualiss ubazemm
mddee @MW agesiiaalmodlad
WREODENE MO .

and Ra. 1,500 for 2011)

Purchase of sports equipments
Sale of old newspaper

Rent of hall paid

Printing and stationery

Entertainment expenses

Subseription collected (including Rs. 2,000 for 2009

Subscription due but not received in 2010
Donation received (Fully capitalized)
Entrance fees (50% to be capitalized)

Salary paid (including Rs. 1,200 for 2009)

60,000
2,800
2,000
5,000
6,000
8,000

500
2,500
1,100

Tal

KR-26
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22, Following is the Trial Balance of

Janatha Traders. Prepare
Trading and Profit and Loss
account and a Balance Sheet for
the year ended 31" March, 2010. (12)

08 448

22. som esewbmion 2010 aodal
dl-m anaicvomisl  aoonume
Unmnam SWE@ Mmosde mone
Ddosiominlenimy.  eoe  mesl's
AHENER) o e se mmundflge

‘Trial Balance

Particulars

Rs. ., B8,

Land and Building
Machinery

Furniture

Purchases

Sales

Salaries

Wages

Carriage

Freight outward

Bad debts

Discount
Commission

Postage and telegram
Printing and stationery
Capital

Bank loan

Sundry dehtm:h
Sundry creditors
Returns

Bills receivable and Bills payable
Interest on bank loan
Cash in hand

Cash at bank

70,000

280000 | -
150000 | -
1.00,000 -
1,75,000 =
= 3,52,000
36,000 s
12,000 -
3,000 =
4,000 5
1,000 =
1,500 2,500
1,100 N
900 =

1,500

= 30,000
40,000 ==

2,000
25,000
1,200
8,300
15,000

Additional information :

1) Wages and salaries outstanding Rs. 1,000 and Rs. 4,000 respectively.
2) Provide depreciation on machinery at 20% and furniture 10%,

3) Provide 2% provision for bad and doubtful debts.

4) Closing stock was valued at Rs. 40,000.

KR-25 7
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23. Raju keeps his books under 23. nomy ‘mimldd oS! dloiafieoam

gingle entry. From the following 6T ESaI0S)E0h BRRIRISIEmIMAE.
s moae  mmildlenimn oo

aomymialal’ meegaommleg 20 10

i
|
1
g_

information, prepare Trading
and Profit and Loss account for
the year ending 31* March, 2010
and a Balance Sheet as on that
date. (10)

modal B1-@ @oosmoomieaimm
roomuETlds ubasaEion BloE maals
EEM L0 suomdbmi  «sflgle

——

Receipts and Payments Account

Receipts Amount | Payments Amount

To Balanece bid 10,000 | By Purchases 28,000

To Sales 60,000 | By Wages - 6,000

To Debtors 30,000 | By General expenses 7.000
To Reut 5,000 | By Commissicn 2,200 I
By Insurance 800 |

By Creditors 40,000

By Balance ¢/d 21,000

1,05,000 1,05,000

Other information :

01/04/2009 31/03/2010
Stock in trade 30,000 25,000
Debtors 40,000 35,000
Creditars 30,000 20,000
Investment 15,000 10,000
Capital 60,000 =

KR-25 8
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Menon sold goods on credit to
Cupta. How iz Cupta related to
Menon?

a) Debtor

b) Creditor

¢) Drawer

d) Banker

.. represents the amount
invested by the owner into
business.

a) Assets

b) Capital

¢) Fixed Deposit
d) Cash

Fixed assets are recorded at
original cost and is shown it the
Sheet at

depreciation. The underlying

Balance costless
concept here is ............

&) accounting entity

b) going concern

¢) accounting period

d) money measurement

Purchase of motor cyele for office
use, was debited to purchases
account. This type of erroris ...
a) error of commission

- b) error of principle

c) compensating error

d) error of cmission

KR-27

(1)

(1)

(1)

(1)

0S 450

ememond, infm anm mpdes
maowmend &sacw] allfoaim.
Ha @Ol CREMOMEIWIS  eniMle
moeyy  @dosiemlel s ool
e ?

a) Debtor

h) Creditor

c) Drawer

d) Banker

an) eflofimmilea, asawes

OIE LM IO Leviivanniniaens QG
alomimmy.

a) Asseta

b) Capital

¢) Fixed [flepusit

d) Cash

adlsstund @amig Brcuwies edslima
@ sty B0EI SIS IR T e,
euoaidmi’  odflglad
Aiflaian memien Soamlenealo
agmE  of@  mrenseElen
serbarualdlad mesicucomenensn,
a) accounting entity

EmEimame

b) going concern
¢} accounting period

d) money measurement

aondlm® golewanamimg usesiw
gaoegod esmuesid  adealmm’
EnEaDaEI aabenllny aainprmy, ool
aqmy e agOd M.

a) error of colmission

b) error of principle

¢) compensating error

d) error of omission

(1)

(1)

(1)

(1)




6.

If closing stock is given in Trial
Balance, then it will be shown in
veenes OMUY.

a) Trading account

b) Profit and Loss account

¢) Balance Sheet

d) Trading account and Balance
Sheet

Goods costing Rs. 12,000 were

damaged in transit, and the
insurance company admitted a

clni_m of Rs. 6,500, Then the
Profit and Loss accounl is
debited with Rs. ..........

a) 12,000

b) 6,500

¢) 5,500

d) 18,500

Complete the following on the
basis of hint given.
Prw:ﬁlﬂn. Ehargﬂngaumt profit.

When a bill is dishonoured, the
noting charge is borne by ...........
a) drawer

b) drawee

¢) payee

d) endorsee

Mr. Reddy started a business
with the following.

(1)

(1)

(1)

()

0S5 450

egomilott aguossled @ [Swd

srueidmiiel marigeansed, alorls

c@mwﬂmﬁ‘wm... fl (O MOYWED

06T 005088,

a) Trading account

b) Profit and Loss account

¢) Balance Sheet

d) Trading account and Balance
Sheet

12,000 ey alles auaym aousmemch
20 ey ey, Kitiignbay
dmuntl 6,500 mpelenes oo
moacdlasalalond, swioadlg e
aciomy’  moeevedldl  eavenfgy
POIEGEE Wy oo e,
a) 12,000

b) 6,500

c) 5,500

d) 18,500

morfidlenim mjammes ErEimaom
owldl moee o8 am dlenma
Provision : Charge against profit.
Reserve : ..,..-....-......?.....H.............

aay el aulmi-aosmd mwad,
memmon] euriwegls emoglow
2 dmE CUatIEBRETE ... BDETL
a) drawer

b) drawee

¢) payee

d) endorsee

mleeiEnoul Mo a0 Siddens)
UMY

Cash Rs. 12,000; Stock Rs. 3,000; Furniture Rs. 8,000:
Due to Thomas Rs. 2,000; Due from Kiran Rs. 4,000

Make an accounting equation
based on the above.

KR-27

(2)

26 &l @l e rmoies
ensirunsmasic &) measavengled

(1)

(1)

(1)

(1)

(2)
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10. What do vou mean by GAAP?
Name any four such principles. (2)

11. Prepare a Sales Returns book
from the following. (3)

05 450

10. GAAP ogrmash agomi? apamelelio
moel (nlidbmila libmin ecmee@mps.  (2)

11. moey awmlalesym alousameias
apglouoomemlel any  amolabm’
clegeriad enlpe) MOD0I86 ;. (3)

a) 01/01/2011

b) 04/01/2011

Sold to Mathur 50 tables @ Rs. 1,000 each.
25 office chairs @ Rs. 1,200 each.

Mathur returned 2 office chairs and Rs. 400 was granted
as allowance for damage of a table.

12. On 0101/2010, a machinery was
purchased lor Ra. 200,000 and
spent Rs. 10,000 as erection
charges. [ts expected useful life
18 10 years with a scrap value of
Rs. 20,000.

a) Show the formula for the

12. 01/01/2010-a3 2,00,000 mjns alfleiss
any eacflno]  ooaEl. oo
cunga llesyrmaimon] 10,000 e
aflmaoel. aaeimaies Balemwamn
DRI S0 10 U nMmom
EHEMANOANYM].  Mddal LB
20,000 ajeioos.

caleulation of annual a) QuOBalen EMEIBIMa EHEmesee)
depreciation CUIMIEE GaOoBaiRl af)Fim)d:.
by Find the amount of annual bl aodisllas e
deprecialion (3) SAESIEO S, (3)
instrument, (3) asalcnarlaayds. (3)
D.Sudhakar Chennai
Rs. 10,000 March 1, 2011
Two months after date, I promise to pay Mr, Saravanan
Stamp or arder a sum of rupees Ten Thousand only for value
recelved.
To
Mr. Saravanan D. Sudhakar
Kodambakam 'Wandanam'
Chennai - 5 Chennai
a) Identify the above Instrument.
b)  Identify the drawer and drawee,
KR-27 i
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17. Consider the following, and pass

the rectification entries, if
necessary.

U5 450

17. moer essspwldlenmal aiaioerd

af, mpoucyemeled aodgladlesansid
abislantd® melas:

sales account.

account.

a) QGoods worth Rs. 2,000 taken by the proprietor for personal
use was credited to purchase account.

b} Ras. 5.000 received on sale of furniture had been credited to
¢) Rs. 3,000 given to Ram Mohan was debited to Raj Mohan's
d) Purchase of goods from Mr. Schan Rs. 6,300, was posted to

his account as Rs. 3,600.
a) Sales day book was undercast by Rs. 300.

18. The following balances are

extracted {rom the books of
Abdullat on 31/12/2011.

18. mosw smosymmidienim euosbo)

& 311121201 1-0f mpenlagewes
enyasiiad oiitmje agsimwlSiaaamosi.

Sundry debtors
Stock
Furniture

Cash received from debtors HRs. 4,000

Sundry creditors

Rs. 38,000
Rs. 14,000
Rs. 22,000
Rs. 13.000

From the above details -

a)  Ascertain the capital fund.
b) Asecrtain the credit sales.

19. On 01/01/2011, Krishna sold

goods worth Rs. 10,000 to Rasak
on credit. Evishna drew a bill,
payable three months after date,
for the amount due. Rasak
aceepted the bill and returned to
Krishna. Krishna got the bill
discounted with his bank for
Hs. 8.750. On the due date, the
bill was dishonoured. Noting
charges amounted to Rs. 200.

KR-27

19. 01/01/2011-¢% seyesfem 10,000 mpn

aes auamescd oroesimy allgl

anynsiem 10,000 mpniss’ oy enlldd

ElALY SoIgRAMWIs OMOBs @D

motdlemlal &jnfemaien) aidlos

maigsl. afgflan @osiomul mjomy
moToo @ET. &indem eon enfldd 9,750
alalal med euosldl aflmieoens
ooigilal’  wEmo  agSieeom).
aspociwles mflp’ dlg asigod
el en ool oo, andlgy
awlmi-soemid @aigiea sl oaiad
amoglect aofes 200 ajmoeni.

(5)

(3)
(2)

|
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You are required to : @1 aflnesmaes @pSlounomanie
a) Pass the entries in the books o :

of Krishna. (4) a) @jeemmwias aujesin myruom)

b) Draw up Rasalds account.  (2) aoskomsl RO Ebad et (4)
' b} ounvoesfled 40 ) D 61T

BIOODE . (2)
20. The following balances are | 20. ayesfema & overdmileng enijesiod
extracted from the books of oflemge, 2011 aulmesud 31-m'
Krishna and Sons for the year @ocimamlal AudatamD @oeaTnE
ended 31/12/2011. Prepare a ma-mm&ﬁ’@' 2SS A0S o)
Trading and Profit and Loss ey, 2011 adirooeud 31-af

@ooumodile) udeuemm eios mads

account for the year ended
’ BEM 60 susmitbay’  edflgie

31/12/2011 and a Balance Sheet

as on that date. (10) L (10)
Trial Balance as on 31/12/2011
Particulars Amount | Particulars Amount
Purchases 50,000 | Sales 1,50,000
Wages - 3,000 Sundry creditors Eﬂ,ﬂﬂﬂ
Opening stock 12,000 | Capital 50,000
Salaries . 2,500 :
Office rent 1,500
Sundry debtors 18,000
Cash in hand 9,000
| Computer and Printer | 24,000 |
; Land and building 1,00,000
2,20,000 2,20,000

Additional Infermation :
%) Closing stock on 31/12/2011 Rs. 15,000,
b) Salary outstanding Rs, 500.
¢) Provide Rs. 400 for bad debts.
d) Depreciate Land and building by Rs. 2,000.
g) Rent includes Rs: 500 paid for the month of January 2012,
£) Provide 5% interest on capital.
~ OR , apegeiad

KR-27 7 Turn Over




OR
Following is the Receipts and
Payments account of Novelty
Chab, Kochi for the vear ending
31/12/2011.

OS5 450
eyl
2011 avlmoeuid 31-m
mQRoosnaglg, smocudgl genr,
adinflones dimilalgo egodod
enlmiaadi — @wesveE  miaw

E
!
:
L

EMBIS AT T,

Beceipts and Payments account

Heceipts Amount | Payments Amount
Balanece bid 4,000 | Salaries 15,000
Subscriprions 55,000 | Sundry expenses 4,000
Donations 10,000 | Rent 3,600
(general purpose) Investments 40,000
Miscellancous receipts 6,000 | Computer 16,000
Donation for building fund Th,000 | Sports equipments 5,000
(01/07/2011)
Balance e/d 67,400 [
1,50,000 1,50,000 1

Other Information :

#) Subscription outstanding during the year ended -
2010 Rs. 4,000
2011 : Rs. 5,500

b) Salary outstanding during the year ended :
2010 : Rs. 2,000
2011 : Rs. 3000

c) Write off 25% of sports equipments.

d) On 31/12/2010 the club had the following : |
Investments Rs. 20,000
Sports equipments Rs. 4,000 ' ‘
Furniture Rs. 28,000

You are reguired to prepare oianglel  omujaflafla;  moomiasles

Income and Expenditure b o & Do m oo’
account and a Balance Sheet as afjentualifileld mpaaenzjo suoedbmy

on the above date. (10) ndfifle WQOOoSRS. (10) ’

KR-27 o] {




FY. BEE-NO. spssssisiimisminssiasisssii ioiois OS 451

September 2016
Y T R e S e DN 0Old Syllabus

First Year Higher Secondary Improvement Examination

Part - TIT
COMPUTER APPLICATION (HUMANITIES)

Maximum : 60 Scores

Time : 2 Hours

Cool off time : 15 Minutes

( General Instructions to Candidates - j\
® There 15 a 'Cool off time' of 15 minutes in addition to the writing time of

2 hrs.

You are neither allowed to write your answers nor to discuss anything with
others during the 'cool off time'".

Use the 'cool off time' to get familiar with questions and to plan VOUT ANSWers.

Read the questions carefully before answering.
All questions are compulsary and only internal choice is allowed.

When vou select a question, all the sub-questions must be answered from
the same question itself.

Calculations, figures and graphs should be shown in the answer sheot itself.
Malayalam version of the questions is also provided.
(rive equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

mldeguemd :
® diddieis mememln’ ayosa 15 dlg 'eyb aoad eese’ seeoalidkess. v
TUDRET B2ISR|EBRES HETHNE ag)#@IEMmo, amsacuomool] epuew cllifinws
MS@TMIEMD 0i0slg),
® sEmOEG agyf@mmMailn oymi ealoaiEmsd weRLtAB AUoenemo.
ng)elo mmaq;émﬂ%mp BTN af)Fi@eo.
® samémmaﬂ;mnué HOMOODEIMM HWmASHETHSIEN, L Femmond ool Eal08isEa)
WEEM G106y Moudlad ol meiom ameaammS | BasenRmIeT.
®  BEmed &)5edn, alimamd, 1oanEd, agmiios eame Gnlo|dldemam
sersoalidlenans. X
® @@ TLORIOT (MIOIDSNEER 6e0sE0ema.
® cooaeRd orwosolele mMaalioalgens.
® GlaIdOBiEe® ©aIYIMISHIET HIMEOEEqIeR avinswias any
; \\ BRIBES0ETE Haleramale aiflemianost paismwoidlennion aloslgy.
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Consider the following facts.
Neethu, Ernakulam

Convert this into information.

The 2's compliment of 101115 ......

The register within the CPU
where the address of the next
instruction to be executed is
stored is called ............
a) MAR b) PC
¢) MBR d) IR

Every device on a network has a
unique four parts of numeric

address is called ...........

ie used to provide
continuous power supply to a

computer when electricity fails.

Identify the odd one.
a) Mozilla b) Windows

¢) Opera d) Mosaic

The distance between text
margin and text boundary in
MS-Waord is called ...........

a) Gutter margin

b) Line spacing

c) lndentation

d) Alignment

A .......... 18 a movemeni that
neceurs when one slide is
removed from the screen and
next slide appears in
PowerPoint.

How will you measure the
guality of information?

KR-G1

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(2)

08 451

MOES DS OTlElEaT Cumimym B
Salgmaalal BN E 0 D8R DT
oEaIoRaMaHch D008,
Neethu, Ernakulam

1011-50ff 2's @ddog fame ........ AT,

mrsiemmon] agemieys aoleges
mibeguamiod @waLmT
axgpm CPU esigyoled swia

zyofb

a) MAR b) PC
¢) MBR d) IR

an] eangrudenmon dema
DoloimSen SoldoemEtag moal
EOMARSIBE Macle @UOLILIET

eecueyed (aituoans miembeaemio
dhorlygrieeies seisiSimidgl quaag
0BT DAIBBENO ..o WA

a5l G isoamaE aga?
a) Mozilla b) Windows
¢) Opera d) Mosaic

MS-Word eavosyeangles text
mofdglmie text boundary @jio
mOTELSE BRSO e BEHTTY
IO,

a) Gutter margin

b) Line spacing

¢) Indentation

d) Alignment

PowerPoint-md en slide-of atpaso
mosyee slide cumion onipadg@em

oeanddeaanad wjemmianidne
. =L e

(1)
(1)

(1)

(1)

(1)

(1)

(1)

(1)

(2)




10. Do the following econversions.
8) (12.125),, = (o),
b) (BB7), = (covreeo D

Answer either guestion 11 or 12.

11. Briefly explain the dilferent

nonimpact printers,
OR
12. Explain primary memory.

13. Compare seck and latency time.

14. Raju wantled to interconnect the
computers in his office using star
topology. Mention any two
advantages and disadvantages.

15. Compare internet and intranet.

16. What are the advantages of {low
chart?

17. You are asked to ereato a folder
named 'Exam’' in D drive. Write
the steps to do it in Windows.

18. Briefly explain any three
applications of a computer in
business field.

19. Explain the modern methads of
communication.

20. You
information about ‘super

computer' on internel, How is it

possible?

KR-61

are asked to colleet

(2)

(5)

(5)
(2)

(2)

(2)

(3)

(2)

(3)

(5)

(2)

08 451

10. mony esosjewieisnym  (&lw
612 g1
a) (12:128); =(siin By

B) (567),= (corrrmnne )

(2)

gaiogyemdt 11, 12 @ smim ao@e semsoe

G E .
11. aflalwmee non impact printer
&t llvadlalens.
o6 RJslad

12. esipuad somd altanssns.

13. Seek time go latency time &o
@MOREmAS 612G,

14, ooy mef adadinioe donlygosns
star ﬁupulng}; gaiem@ouiay
ermitflaflenomolaadhommmy, mmﬂmﬁ
aQEmERIEye @ENE (D)6 BADAH IR0
AQEDY.

15, mf@demgie odsoanpe oonmaoe
6101 ). s

16. Flow chart-eq usmend ageims.

17. Exam agon satodand D eeoniad
gemosmmaimanimymon Window-
Wi slep-duld ofFims.

18. elmillod eosieiafiess apnmaile)s

2T mon yiglend Mg flesnnumadd
nﬁ}'«?&i’ﬂ%.

19. mpawainoweninias
modigenad olliedlaafiaamn.

MM

20. sditemgleyss mjad doalysoas
Silaligs afidite awaldaa)aion
misgEEgls  EDoion)aalSleleazmmy.

EINMETERNT MR o

(5)

(65)

(2)

(2)

(2)
(3)

(2)

(3)

(5)

(2)
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Answer either question 21 or 22,

21.

22,

23.

24.

25.

26.

27.

28,

29.

Lxplain the different options for

formatting a page in MS-Word.
OR

Your class teacher wanted to
send a PTA meeting imvitation
to the parents of all the students
in the class. How it can be done
easily in MS-Word?

How do relative address differ

from absolute reference?

Rajani wanted to fill a range of
cells 1n Exeel with the series
5, 10, 15, cve, 50, Write the
gteps to do so.

Anna has to add the values in a
range Al to A10 using function.
How is it possible in MS-Excel?

What 15 the use of forms in
MS-Access?

What is a querry? Explain the
procedure to create select

querry with the help of an

example.

How can you msert sound in a

presentation?

What is slide sorter view?

(5)

(5)

(2)

(2)

(2)

(2)

(5)

(2)
(2)

21. MS-Word-@ soisd' sanotbooglerms’

28

24,

26.

27.

28,

29.

05 451
eningemat 21, 22 @ somim; 2owe sEme
Og)FIms.

solgummanmemem  a@on nfits
BoEE)n.

meagy sl

. rlemges gomi dlajolal goodlae

Afigd EidEans tasebomisnng
wio PTA digiemlrd sstermileami
MOMUM@IW & Em s
apaio e MS-Word gooemocdla]
NEETRET 008600 Y

ugeam

Relative reference agemem

absolute reference-sf mion

CUyEAaoIaI Slalanymy.

meoilesi medd Excel cdssneligios:
empyeslad 5, 10, 15, .......50 copend
adlgymoigpenallmaciuymow sirgal
e T T o

anom Excel acidesiafigos AL aymad
AlD cianmygs STURIGIIPS ©id
function Bnlawomn]al

SAIGOGHEIAm,

MS-Access-ad ¢anodled onewame
oo 7

Huerry ogmosami? emasd

querty oil@oglseymemsam agm
DEIAOREM Miadime Qlltnanosns,

el @ inadllol numedfasedled veemias
oieenoaslen)memsRe?

=lide sorter view agomoeemo
) PAMidh.

KR-61

(5)

(5)

(2)

(2)

(2)

(2)

(5)

(2)

(2)







0S 452

eril ey el oo m e 8

1. Information has an important 1. mmes
role in our day-to-day life. What s aanabemasel 8o) IWomags
are the measure of guality of role send. Quality of information
informution? (2) S ERErEHOT agema|amoan?

2. 'Indata processing, we are using 2. geislaisosTies (wogD slelomqeies
a computer as the data mandd @oaiisd alswoudleam).
processing machine”. Give a sl BONEMs ageImes.
reason for this. (2)

3. Convert (3A.D),, into binary. (1) | 3. (3A.D),, em eesumal myelemic

gy e .
4. Match the following, (2)| 4. camcals) aaibass.
A B
a) | Program counter i) Customized software
b) | Linux ii) | Registerse
c) | Open office iii) | Language processor
d) | Interpreter iv) | Application packages
V) System software

5. ldentify the odd one from the SSamiEd HalSOETIE GRE T E006Mo
following and give reason. ) FAmRs,

LCD, Scanner, Plotters, Dot LCD, Scanner, Plotters, Dot
Matrix Printer. (1) Matrix Printer.
KR-63 2

(2)

(2)

(1)

(2)

(1)




0S8 452
_E. In a computer's memory, all the 6. emy donlsolmean’ oy
data are represented in binary afiuneang)s caualsOagsima
form. Can you represent aaenm -mﬂm-mmma:rn_‘ri‘ i
characters including alphabets allamemseswo EDESHDEE AR M Lo
in binary form? Explain the two Deveemdh esmmd ejaienmid
methods for this. (2) myaflalisnems? omlmow]
BosswonlEnoaym oens) i dned
alcadenloms,. (2)
7. Express-17 in 2's complement 7. —17em 2's complement opiesied
S e, _
(Hint : word size is 8 bit). (2) (mugaim : word size is 8 bit) (2)
8. Inacomputer Iab the computers 8. sy doalysd e0elloal Sonlgomed
are eonnected as shown in the Moy Maé&mﬁ?rﬂ;ﬁa@ﬁ'
figure below. aflimemaaimy Griogel
| \/ T
Node 1 Node 2 4 Server Node 3 Node 4
a) Name the topology used for a) ov somiemwles topology
this arrangement. (1) g eAmE. (1)
b) List the &&va-ntages and b) @ topology wies ogememago
disadvantages of this IBMETBED P08, - (2)
topology. @)
9. &) Tonerisusedin........ printer. (1) | 9. a) G0N S B@OUASE)M (g ... (1)
b) A medical shop in vour b) aflsges moglee @) medical
locality wishes to purchase a shop llg] o pasgomonl
printer for billing purpose. en] laflahd AOSBH
Which type of printer do you saguilenm). oD ason
recommend, if carbon copies fSieanMmEmIaMOME  agm)
are to be taken? Justify your @ealeyss w @ e oflvecd
answer. (4) Ueje 2@ ﬁm%ﬂ!?
YW t66) b, (4)
KR-63 3 Turn Over




10.

11

12.

13.

14.

ldentify the dilferent
compaonents of the website
address given below,

hitp:/fwew dhs eko rala.goy,in

What do you mean by
Spamming”
Mr. Sunil bought a software from

ah duthorized dealer. The dealer
told him the legal implications
in the use of software What do
you mean by the Tlegal
implications in the use of

soltware?

DOS iz a character user interface
Operating System.'l“{'ame the
other types of Operating
Systems. Give an example for
this type of Operuting Svstem.

What are the advantages of this?

A computer teacher draws suine

of the flowchart symhbols on the

blackboard as follows.
Write the need of each symbol

in the flowchart.

10.
(1)

11.
(1)

12.
(2)

13.
(3)

14]
(2)

05 452

mome Geasldlenmm website
address edq aflalty e3memd
agPmEge!
hitp://www.dhsekerala gov.in

Spamming agmmoet g7

ol oo ey @ooddley® cLyyaaoal
WS aldnm iy ey software
Cuierdl, Lyt o] ERWoEES goftware
e lsmocdlenemoees clanalenc
mpoasmaEasag  moemoelal.
Software 9oicdoliansmIaFias
e inmIw (B4 1 DD TR T

BEECTROEIEETITET?

DOS

interface

@n) character uscr
Al @owEmI 288
Operating System e, gl
moneges Operaling System
aqmaan?

o allesnaemiess

Operating System 7 9EROREMa
ageymyes.  Dled
aqFemgRmoem ]

mgsmsmcm

@ow  asosmym  catopyes ofle
flowchart symbols @oalysd Flad
genobeuiad cumaflg). flowchart
g0 moans symbol gl @ye GBI

T .

0

a

)

KR-G3

{1] {“!I
(1)
&
(2)
n
(3)
(2) |
|
y
II
—



Answer either question 15 or 16,

15.

16.

17.

L8.

19.

20.

‘portal,

"Computer has an immense role
in the field of medicine and
health care”. dJustify this
statement,

OR
Discuss the role of computers in
law enforcement field.

Which computer tﬂﬂhﬂdlqgg is
used in “sutharya keralam" of
Doordarshan, for the face to face
communication between the
Chief Minister and the people in

different places?

What is meant by E-governance?

Government plans to provide
services to citizens through
common  service
(Akshyaya centers) and web
which are easily
available. List the advantages of
this.

centers

Mr. Salim wants to icer—:_p Lhe
address of the website he often

‘visits in the hrowser of his

computer, Wntetha suitable
method used for this. How is this
possible?

KR-63

(3)

(3)

(1)

(2)

(3)

(3)

0S 452

eanayandd 15, 16 @ smimy e somas.

15.

16.

17.

18,

19.

20.

Medicine and health care field
% <015 clat @ocnm oty @
9 Qbaleo moadmdoes.

Law enforcement field wm

Sonlysdlady olm afladledlons.

sjectumlan ‘mymon, Benae’
asdlologioled Chief Minister go
afleufitn mmm@m@ KM
mazl@d emalsian enwoalmiawe
TIIWYA0DHIOT

technology agmoeni?

tomputer

E-Eﬂvemance--mﬂﬂ et

wnaedes agpaie agaiyamis

HR00 menw em@dleeswe
web portal ruiwge midenaciod
DY OB (PHERD ag)eimj0s.

moella aifi@n |2vomi ..nﬁm;ﬁpﬂmm
website address AEFanEie s
@oalysclenl web browser @t saunf

.mmg;amsmnmaagﬁﬁ;. somlm

cwomla pallmmiw o) )
OGYEIDIS. BO0T AGEIBEM MU mOdaT

(3)

(3)

(1)

(2)

(8)

(3)
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21.

22.

23.

Which one of the following 18

NOT a Visual Basic file
extension?

a) frm

b} vhp

c) -bas

d) .vba

O a VB project, if T am getting
the Default property of a
CommandButton to True, what

will be ite effect on the project?

What are the different
properties to be set in order to
ereate the TextBox for entering
a password with maximum of 8

characters?

Answer either Question 24 or 26.

24.

Following is a component of
Visual Basic IDE. Name the
component and explain the use

of 1t.

KR-63

21.
(1)

22.
(2)

23.
(2)

05 452

moes aowymooia Visual Basic

file extension DT EET
a) frm
b)Y vhp
¢) .bas

d) wba

emot emy VB project e
CommandButton & default
property, true gowfl amg
aniimod @p Sleomasis oaled

|aaEme ngrmowdeanie?

alpaocnl B moeynamaies S0)
password eogumelmoel &mg
TextBox @moo0#e0id of@mpide

properties emg aalg@emo.

aounaysmnch 24, 25 w eorioy moime SETHe

af)FLm s,
94. moas @oemyen Visual Basie IDE

wes eueems? DElad palewone

(3) “h
REISE) .
=l
i gyl b
6

(1

(2)

(2)

(3)




25, 'Ifdantif;r the  following

component of Visual Basic IDE

and explain the use of it.

26. Classify the following" into
-':agprn;;}riaﬂ_a categories,
Name, Click, Load, Print,
Visible, Move, Refresh, Font,
Change.

. SR .- control is used to select
only one from a group of items.
a) CheckBox

b) TextBox

¢) Label

d) OptionButton

28. ﬂﬂmp-ar_a_-_ Exit and End
al‘.at_emﬁ?;;_fié'al-.;in VB.

KR-63

(3)

(3)

(1)

(2)

08 452
25. 0w woamm Visual Basic IDE
ogomm alelaycles? paleg

DalEwOne Allwansese. (3)

26. monw D&oslalseymaisn
BRMAWOsY D 1@4@@5&@ @ra
il aoye.

Name, Click, Load, Print,
Visible, Move, Refresh, Font,

Change. (3)

27. aa) wpfld dme eorden i)

ODOETINSIBNIRD. ..rvveve.nn, CONLYOL
Balewocdlenmm),

a) CheckBox

b) TextBox

¢) Label

d) OptionButton (1)
28. VB wles Exit statements go End

statements 2o monmaje eoigyes.  (2)

Turn Over




Answer cither question 29 or 30

29, ) Identify the invalid variable
names in the given list. Give
Teasons.

String, GRADE, 2mark,

Eng mark, emp no, Name

b) Rewrite the following VB
ende segment Using Select
............ Cage gtatement.

1f score »= 90 then

Grade = "AF"
Flaeif scere == 80 then
Erade = "AY
Elseif score >= 70 then

Crade = "B+"

Grade = "B"

OR

30. a) What are the ditferent data

types used in VB application?

h) What kind of statements i8
ased in VB for the execution
of a set of statements

repeatedly? Explain any two

of them with their syntax.

(2)

(3)

(2)

(3)

05 452

gnsoayemch 29, 30 @ sarimg aome SETmHTe
) P L. '

29, a) mmmidssgen list @ eilemye

variable names @DEHOEHE
ape @ ] ] ot 3 .
SoBmoiEhmie EoREmo
i lumEmD SN0

String, GRADE, amark,

Eng mark, emp no, Name

cude

VB

segment om Select oo

b) mnrlaleaym

(Case golemoiiian] .
If score >= 20 then
Grade = "A+"
Elgeif score »= 80 then
firade = R

plseif score == 70 then

Grade = "B+"
Flse
Grade = "B"
Endif
eyl
30. a) VB applivation B lE@oLT-
soym  alalw data types
agemEoneT?
b) VB application s & anrog
statements oo BTty
cxecute oo om@

atatements Aoen SnlE@oUdle

(e mmeaiees aqe@lelo
aeemEe  SYNTAR fayime
cifleyinl e,

KER-63

(2)

1
(3)

f
(2)
(3)
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